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Addition - Year 1

Method

Example

Combining two parts to
make a whole: a part whole

model.

Understand that the whole is
bigger than the part.

%

There are 5 animals altogether.
There are _3 dogs and _2__ cats.

5 is the whole.

o

2 isapart. 3 isapart. @ @
3 isapart. 2 isapart.
4 plus 3 is equal t
The whole is _5
— R R
Starting with the bigger
number and councingon. [t 1111 14Q4 {ERiprreyyey
. % i 1 I ‘
They will choose the larger To work out 7 + 5, T will count on . - J 5+3=8
number (even when it is from _7_ : / )}, |
not first) and count on 7+5=_12 ool ' i
from there. Use number )
lines or store mentally and )
count on fingers. 5 3
Finding and using number
bonds to 10. 00000
- Ceeee
; 6+4=10 o0 o
Use these nur.nl.)er bonds: to I»ZF ﬁ P pRp— DDDDD s * o8
work out addition questions S 15+4=19
thi cEmD © mmn | 00000 00 -
within 20. T 0+8 16 + 4 = 20 5 and 4 are a number bond to 9,
a So 15 and 4_are a number bond to 19

Using doubles and near
doubles for addition.
Know doubles for numbers
to 10.

Use near doubles to work

out addition problems.

eee
e

5+ =10
Double 5is _10_

O
Q

- ——

Double 6 = 12
7+6=_13

7 + 6 is equal to double 6 plus1




Addition - Year 2

Method

Example

Use related facts to add tens.

Use related facts to learn
number bonds to 100 (using
tens).

4+3=7 aeane

i

4 ones+_3 ones=_/_ones,

1l

1+ 9 =10

e +eeeeeeeea=10

104/ 90 =100F + = 100
So_4 tens+ _3 tens=_7 tens
This means that 40 + 30 = 70
Using partitioning to add 18 + 7 2 e
across 10. o - . em . ®
Partition the smaller number T e ® [ [
using knowledge of number 2 )15 : : : by e
bonds to 10. V2 .5 ee .
59 + 5 60+ 4 =64
| —
18 15 20 21 22 23 24 25 S9+5=064
Adding 3 one-digit numbers. 5 P,
Use different coloured 5 codniers To eletlare * 7+6+3=16
counters to add 3 one-digit 745+4=16
numbers. 7+3=10
Use number bonds to add 3 oo Peeee
one-digit numbers. ol il%:l H:EH 10+6=16
Adding 2 two-digit numbers
not across 10. Partition the 99
tens and ones first. Then, add EE . o 43 56
the ones first and then then 7 5
tens. EEEEE 1" e 11+36=47
am 23+52=75
43 +56=99

Adding 2 two-digit numbers
across 10. If a column goes

across 10, we must exchange.

In the example, 5 ones + 7
ones = 12 ones. Ten ones will
be exchanged for one ten.

Use base 10 to calculate 45 + 37

I
e
™
T | BeeeEl
e
IITITI11y (1111 ]
= oo

There are 8 tens and

2 ones.
80+2=82
45+ 37 =82




Addition- Year 3

Method

Example

Add 10 and 100 by adding
the correct number of digits
to the specific column.

A ad 200

The hundreds column will _increase by

2

434 + 200 = 634

Add using the column metho
when there is no exchanging
needed.

212 + 147 = 359

Hundreds

W+~ N I

nid kL4

OWIN N O

b W I
o= »n
~lw k0O

Add threedigit numbers
together using the column
method.

Use diennes to embed the
concrete before moving onto
the pictorial (counters) and
abstract. When a column goe
beyond 10, weexchangethe
digits e.g. 10 ones becomes 1
ten.

243 + 172 = 415

Hundreds

Tens

= NI

=S

NS
N w0

[y
(%)

Rrloy N W T
wio N -
Blw | ~, O

Add tens that go across 100.

~©00

270 + 60

The next multiple of
100 after 270 is 300

+30

" 000

270

\
300

SUT

583 + 50

| will jump across the next multiple of 100

=H30

633




Add a two-digit number and
a three-digit number using
the column method.
Reinforce the importance
of lining the place value
columns correctly.

2521+ 23 =275
H|T|O
252
& 2|3
2175

105 + 87 =

192

+
=l O] O |+

NI 0 O

=l O] | O H

NIg |l »n O




Addition - Year 4

Method

Example

Adding two four-digit
numbers with no

2,151 + 4,312 = 6,463

exchanging.
Using ol | . Th | H T o} ' ' ' '
sing place value counters l.
to reinforce lining the ©o|e 88 ° . | 5 | 2 | 3 A 1
columns correctly. (0] +.i ;i ; 4 3 5 8
0000 00 6463 | .
eoo '5/58/9
6 | 4|6 |3 |
Adding two four-digit
numbers with exchanging. 3 635 + 4 572 — 8 206
Th | H T o =1 r 1
OO o g g o —
0o AERE 1316|135
+1458 | =al 1
+4|5|7|1
® 00 pEans|ie '
©0/00 8206
111] |
6 2 6 1 -

Using rounding to estimate

addition questions.

| £2,138 s quite close to £2,100 |

| £1,279is quite close to £1,300 [ @

2,138+ 1,279
2,100 + 1,300 =
3,400




£437 rounded to the nearest 100is £400
£266 rounded to the nearest 100is £300

The estimated answer is | ‘
£400 + £300 = £700 14(3]7]




Addition - Year 5 and 6

Method Example
Add numbers with more thar
four digits with and without [ m——=——— T B B ——
exchanging.
Always with the place value e gg 8 8 88 38
column with the smallest o000 0O 265 84 ' ' ' "
colun 88 | eisisi| |2|6[5[8[4]
e 0000 O
s +[1[3]2]3]1
3|19]18|1]|5
319|785 1

In column addition we start with the place
value column that has the _smallest _value.

Add decimalswith the same
number of digits and with
different numbers of digits.

Lineup the place value
columns correctly and
starting with the place value
column with the smallest
value.

2.5+3.16 = 5.66

Ones ¢ Tenths Hundredths
o0 000
0. .
000 O 000
1 000
5 'Y 6 6

o Tth Hth|
2{so]|
+3:1 6
5.6 6

3.108 + 2.154 = 5.262

Which columns will involve an exchange?

-

Hth Thth

0 |Tth Hth Thth
311|108 oolO
1242 |5]4 o
sl2)6|2] 4
1 00|00 [©0 [
® 000
(]
5 ¢ 2 | 6 | 2

2545+ 6.76 =32.21

N

N N N

w
N | O

34.35 + 22.64 = 56.99

+

3143

2 2.6
5 6-9

5
4
9




Adding decimals up to the
thousandth’s column.

Line the place value
columns correctly. Put
place holders into the
empty columns.

Exchange if a column goes
across 10.

2 1316+ |7.15 4 (2

2 3

+ (0|7
3|1
1

1




Subtraction Year 1

Method

Example

Find a part - understand
that whole is made up of
parts.

If we have the whole and
one part, we can find the
missing part. This will be

<

If the whole is _5 and
4 isapart, then the
other partis ___

N

If the whole is 10 and
_6 isapart, then the
other partis 4

done using number bonds 6+ 4 =10
rather than formal
subtraction.
Finding ? partas There are 5 tanks in a shop.
subtraction.
3 of the tanks have fish in them. e
How many tanks do not have fish in? 71-141=3

Still using number bonds to
find a part, they will
represent them using a
subtraction symbol.
Children will understand
that whole - part = part.

=y

B g ~\~

5|-13|=|2

"Five minus three is equal to fwo"

Subtraction as taking away.

This will be the first time
they’re introduced to
subtraction as ‘taking
away’. This will be done
first without the
subtraction symbol.
Children will be taught to
‘cross out’ what they are
taking away.

In step 2, the subtraction
symbol will be formally
used.

Step 1

First there were 6 children in the pool.
Then 3 children got out.

Now there are 3 children in the pool.

First there were 9 bottles of water.
Then 4 bottles were drunk.

Now there are 5 bottles of water.

First there were 5 birds.

Then 3 birds flew away.

Now there are 2 birds on the tree.

5-3=2

First there were 7 counters.

Then 2 counters were taken away.

Now there are 5 counters.

71-12|=|5




Subtractionusinga number
line-
Children will be taught to

7 -3 =[8 Sam has 4 stickers.
She gives 2 of them to a friend.
How many stickers does Sam have left?

; NV
count back from the bigger 01 2 45 6 @ 8 9 10
number. et t—t—F—t+Ft1 1 2/ \3/ P 7 9 10
T need to start from 7 ——— Q;D { —
I need to make 3 jumps backwards.
Ilandon 4 4|-12]=[2

Using number bonds to

subtract within 20. ‘l!lr.l.l‘l
QO

Subtracting by finding the " How many fewer beanbags does Alex have
: ow many more cakes does Sam have than
difference. Max? than Tommy?

The children will be

introduced to vocabulary b = X=X Q@ o) “
|| @ oo SR 22 2 2 2 2

many moreand find the
difference.

Sam has _2_ more cakes than Max. Alex has _4 _fewer beanbags than Tommy.




Subtraction Year 2

Method

Example

Subtract across 10.

Children will use their 12 -4 = T
number bonds to V.S
partition numbers OlO O O[O |2l ;//f/ \\ ig s - éo
subtract across 10. QIOIOIOIO (a)(2)
12-4= 12-8-4 S
12-2=10 A N\ T can partition 6 intfo _4 _and _2
_ N
10-2=8 Y N = san T
\ 2 ) b 6/,/ 01234567®910111213(A151617181920
T can partition 8 into _2 _and _6
I need to subtract _2 _to get to 10
T need to subtract _6 more
12-8=_4_
Subtract from 10 - Use
number bonds to ten to
subtract from multiples OlO101010] 1010101010 ' 1 1 i@ *
of ten. OlO1010[IO0] 1O T T T T T T T 1
20— 4 =16 70 71 72 73 74 75 76 77 78 79 80
Complete the sentence. 80—-4=76
If10—_4 = 6 ,then20—_4 = 16
Subtract two 2-digit
numbers without
. . Use base 10 to calculate 67 — 37
crossing ten - do this by
partitioning the number EEE u o
into tens and ones {: Work out the missing part. 97

(always start
subtracting with the
ones)

Complete the sentences.
_7_ones — 7 _ones = 0 ones

6 tens — 3 tens = _3 tens

3 | o |

@ 35 | 62

62




Subtract two 2-digit
numbers across ten.

To do this, you will need
to exchange a ten into
10 ones.

This can be done
practically using base

|~
[}

Subtract the ones

ten (diennes).

Use a number line to

subtract the ones of the

smaller number before
then subtracting the
tens.

Subtract the tens

Year 3 - Subtraction

Method

Example

Subtract 100 from 4|
given number.

Children will
understand that
only the hundreds
column will
change. Encourage

them to use their The hundreds column will

Sub ly I'act
400

decrease py 4

number bonds to
subtract (e.g. 5-3 =
250500 -300=
200)

0000
©0_0

e

000 00

634 — 400 =234




Subtract 1 across
ten in a 3digit
number.

321 -7

The previous multiple of 10
before 321is 320

Use a number line i‘ 7 can be partitioned
o WV into_1 and _6_
and knowledge of B8
number bonds. e -
r b d ke
| |
| |
314 320 321
Subtract 10 across 430 — 80
100.
The previous multiple of

Use number lines 100 before 330 s 400
and knowledge of ‘.870,‘
number bonds. 50) (30)
430 - 60. .= NEN. . S
The previous 100 is "/ \"/ \‘
400. | | |
430 -30=400 350 400 430
60-30=30

400-30-370




Subtract two numbers

. . : 438 — 325 =
without exchanging using a
formal written method. Hundreds | Tens Ones
g H T O
Place value columns must b EEE o
lined up and always begin - 11318
subtracting at the ones. — Q’&
4 ] 8 8 1B
1 1 3
Subtracting with exchanging. — 1 - 5 we cannot do.
451 —325= 126 So we must exchange one of the tens into
Children must know to start || [ Hundreds | Tens Ones 10 ones.
with the ones. Now wedo 11 - 5=6.
R
4
If the digit in the top number 00 4 M Then 4 tens- 2 tens = 2 tens.
is smaller than the digit (Y] —[13]2]5
below, you must exchange. 1% 26 4 hundreds 3 hundreds = 1 hundred.
@0
Use this method teubtract a 1 2 6 |
2-digit number from a-digit
number.

201 — 27 = When there is a place holder on the top
pEUEsE)|  Tens gl line, you exchange from the next digit on
© (0O Gto | melef

Q0|00 e
O O — 3|7
% @ 1|64




Year 4- Subtraction

Method Example
Subtract two foudigit 4,562 — 3,152 = 1,410 4154 — 1,522 = 2,632
numberswithout exchanging, -
with exchanging and with : ‘ Th | H| T [0O] % 54
Th | H T | O | | | LX) 0000 :
more than one exchange. i 7R golooloz e e —1522
g |00 |0 - ©0|o 2632
oo 00 |22 = i ‘11 i CZ) gg EEEE
o |9 dlles BLAH
oD
1 4 1 0 2 6 3 2

4,065 — 2,128 = 1,937




Year 5 and 6- Subtraction

Method Example
Subtract whole numbers withf - v = =
more than four digits with
and without exchanging. %O gg gg 8 8 0%
SSS 00 36/5/8 2
—[1]3]2]0]1
00 2[3[3[8][1
Line the place value columns
up correctly and begin
subtracting in the place valug 5 3 3 8 1
column with the smallest
value. TTh | ™ | H | T [0
0000000000
2 080800 7
ST 00O RLAE g
O -[1]3][2]0]5
23131717
2 3 3 7 7
Subtract decimals with the v v
. 771 D,1, O |
same number of decimal B'“ 119 ‘ /f 2 ”1/ 15
places. | ‘ R
—| |a34|3] |-| |710]6
3l7|6 | 5.0 9
different numbers of digits.
placeholder.
Ones @ Tenths Hundredths 6 ., 7 3
000 0000000 1,30
000 000 5.4 3 ‘ 7.2—2.27=14.93 -
5 ¢ 4 2 67 -z 1o
2 2 7
4 91| 3
Ones ® Tenths Hundredths
000 | 0000 | 0000
000 | 0000 | 0000
Oee L 1
4 & 9 3




Subtract decimals from a
whole number.

Put placeholders into the
empty columns so that
there is an even number of
digits.

When there are multiple
zeros, you must continue
to exchange until you can
subtract in the smallest
value place value column.




Year 1 - Multiplication

Method Example

Children will count in
groups of the same number
of objects and add them.

How many socks?

333 53D

How many grapes?

8,8668

B3p3p33p

There are 12 equal groups of 2
There are 24 socks altogether.

8888

There are _9_groups of 5
There are 45 grapes altogether.

How many flowers?
There are 10 flowers in each bunch.

There are 5 bunches.
There are 50 flowers altogether.

Make arrays to support

multiplication and to show D 1D XD XD YD) O O

multiplication as repeated

~ddition, ®)H® @ r® X®) X XD
@)@ @ »® @) o LS NE)

There are 3 rows of _5_

There are 5 columns of 3_

There are 15 altogether. There are 15 altogether.

LUl
—0000000000 0000000000
0000000800 ) Seeecessss
—0000000000 0000000000

10 + 10+ 10 + 10 = 40 444444444444+ 44+44+4+4=40




Making doubles and seeing
them as two equal groups.

&d

Double 1is 2

i

Double 2 is 4

v

Double 3 is 6

)
BR

Double 4 is 8

0|00 00
C000)0)

Double 5 is 10




Year 2 multiplication

Method

Example

Identify and make equal
groups.

Know that 3 groups of 4
and 4 groups of 3 lead to
the same total -
introducing the concept of
commutativity.

There are _6_equal groups with
_3 ineach group.

There are 18 cubes altogether.

3|+|(3[+[3(+3|+|3|+|3[=|18

6 + 6+ 6|=|18

There are _3 equal groups with

_6_ineach group.

There are 18 altogether.

Using the multiplication
symbol making the links
between multiplication and
repeated addition.

Both repeated addition and
multiplication sentences
will be written.

229,

There are _3 equal groups with
_4 ineach group.

al+[4]+4]=12

3(x/4|=12

222

3x4=12

"3 lots of 4 is equal to 12"
"3 groups of 4 is equal to 12"
"3 multiplied by 4 is equal to 12"

Using arrays to show
that multiplication is
commutative.

B S N T S TS g e Ty
! 1 i 1 i 1! |
! I 1 i n ! h
! " " 1] " " 1
1 " " " " " 1
1 " " 1" " " 1
I i I 1 i i i
1 " [ " " " 1
] " " " " " |
1 " " " " " ]
! 1 1 W 1" W |
! (] () {0 " ! |
\ NS )\, W )\ &)\ &,

6+6+6=18
3x6=18

34+3+34+84+3+3=18
6x3=18




Learn the 2-, 5- and 10-times
tables as multiplication.

I N I A N O
T 1T 1T 1T 1T T
4 2x6 2x8 2x10 2x12
21 2x3 2x5 2xT 2x9 2x11

? 10 12 14 16 18 20 2224
|
X

5 10 15 20 25 30 35 40 45 50

I | I | I I I I I |

| I I I I I |
0 H%2 5x4 5x6 5x8 5x10

5x1 5%3 S%D Sx7 5x9

O 10 20 30 40 50 60 70 80 90 100

I I N [N S N
ot 1T
10x0  10x2  10x4  10x6  10x8  10x10
10x1  10x3  10x5  10x7  10x9




Year 3 - Multiplication

Method

Example

Identifying multiples of 2, 5
and 10.

Know that a multiple of 2
can be divided into 2 equal
groups.

Recognise that all even
numbers are multiples of 2.

Recognise that all numbers
with a 5 or 0 in the ones
column are multiples of 5.
Recognise that all numbers
with 0 in the ones column
are multiples of 10.

Multiples of 5 Multiples of 10

4 0
4 5 The ones digit is
5 0 either 5 or 0

Multiples of 5

Multiples of 10

4 0
5 0

I 6 0 The ones digit is ‘
7 0 always 0

)

Multiply by 3 and 4.

Learning the 3- and 4-times
tables.

There are _3 groups.

There are __ 3 in each group.

There are _9 altogether.

[8 ]x[4]=[32]

[ 4 |x[8]=[32]

Multiplying by 8 and
learning the 8 times tables.

Use links to other times
tables to learn the 8 times
tables. Knowing the 8 times
tables are double the 4
times tables.

‘ Iknow 6 X 8is | @
double3 x8

3X8 3x8

. .

0 24 48

I know 5 X 8 = 40
~~ then | added one more 8

B,

5x8 +8

A

0 40 48




Multiply a 2-digit number
by a 1-digit number with
no exchanging.

This will be done by
partitioning the two-digit
number and multiplying the
tens and ones separately.

Each tray has 24 rolls.
How many rolls are there in total?

2 X20=40
2x4=38

_2 tens multiplied by _2 is equal to 40
_4_ones multiplied by _2 isequalto_8

31x3=293

[N

24 multiplied by _2 is equal to 48

_3 tens multiplied by _3 is equal to 90
_1 one multiplied by _3 isequalto_3
31 multipliedby _3 isequalto 93

Multiply a 2-digit number
by a 1-digit number with
exchanging.

This will be done by
partitioning the two-digit
number and multiplying
the tens and ones
separately. The answers
will then need adding
together.

26%x3=78

2tens X3 =_6 tens

6 ones X 3 = 18 ones

26Xx3=160 +18 =7

26x3=78

000 00
000 00
©00| 00
000 00
000 00

B2)x 5

@6??5

st

150+10 =160

32 x5=160




Multiplication -

Year 4

Method

Example

Multiply by 6 and 9 and learn
the 6- and 9-times tables.

Counting sticks to be used in
the teaching of the times
tables.

Introduce the children to the
finger trick for the 9 times
tables.

Thereare _6 equal groupsof _3
[31+[3]+[3]+[3]+[3]+[3] =[18]
[s]x[e]=[18]  [6]x[3]=[18]

O e N = . 0
6 12 18 24 30 36 42 48 54 60 66 72

G TN N T o e
9 18 27 36 45 54 63 72 81 90 99 108

There are _4 _ cookies.
There are _9 chocolate chips in each cookie.
There are _36_chocolate chips altogether.

Lo J+[o]+[o]+[9]=[ze]
[4]x[9]=[3¢]
[9]x[a]=[36]

Tens Ones
2 7
0x9=0 o Ones
S —
1x9=9 “3%9
2Xx9=1
3X9=2

é
&

Learn the 7,11 and 12

Know that when multiplying
by 0 the answer is always 0.

Know that when we multiply
by 1, the answer remains the
same.

timetables. 7114(21(28|35|42|49|56|63|70|77(84
11|22(33|44(55|66|77|88|99110|121|132
12 |24 |36 |48 |60 | 72 | 84 | 96 |108(120|132|144
Multiply by 1 and 0.

S () ()

There are 4 plates. 0x4=0

Each plate has 0 doughnuts on it.
There are 0 doughnuts altogether.

R

0x3=0

4x0=0

There are 3 plates.
Each plate has 0 doughnuts on it.

3Xx0=0
There are 0 doughnuts altogether.

Complete the missing numbers and number
sentences.
Thereis _1 tree.
The tree has _5 birds on it.
There are _5_ birds altogether.

Multiply by 10 and 100

24 x 10 =240

24 x 100 = 2400




Thousands Hundreds Tens Ones Thousands Hundreds Tens Ones
Know that when we
multiply by 10, the digits & Q ® Q O a 00 8 8
shift one place value &~ O Q 3
column to the left.
_
When multlplylng by 1®' Thousands Hundreds Tens Ones Thousands Hundreds Tens Ones
the digits shift two place OO0 0O 0 € @
value columns to the left. Q O ® O
20x 10 =200 20 2,000
4x10=40 4 x =400
200 + 40 = 240 2,C =2,400
Multiply a 2-digit number
by a 1-digit number.
- T 0 4x4 =16 (6 goes
Children to be taught the T O 4x4=16 into th
expanded method where 2 4 4% 20 = 2|4 Into the
each digit is partitioned x_ 4] 4 ones column and 1
and multiplied separately. 1 6/[4x4) 30 i 906 ten is exchanged)
Children also to be taught 8 0(4x20 16+8=96
short multiplication with 9|6 1 4x2=8(nowadd
exchanging required. the exchanged digit.
8+1=9
Multiply a 3-digit number
by a 1-digit number. 251 X 3 =
'51 X 3 =753
H T o e :
| |[H|T|O o ) Al
©® 0000 || [2/5[1 8 1
00 B 3 e
) X 3
00 0000 | o BEICE N
=1 | 1
o0 0000 ®
==




Multiplication years 5 and 6

Method Example
Understand square
numbers.
3
. 3 rows of 3 are equal to 9
Use concrete objects to 2 e n fact fgq ‘. . 1 1x1 1
. . IS a Tactor O
identify square numbers. 2 % :
3 3 3x3 9
Iti ible to mak 4 4x4 16
Know that a square number L ‘ . ‘
. . . square with 9 counters. 52 5x5 25
is the result of multiplying a 5
number bv itself 9 is a square number. 6 6x6 36
u y ' - — 7 7x7 49
A sqtlloarebnurrl\belrfls the result of multiplying a g2 BB 64
Learn the square numbers num e; Vsﬁj——' 92 s 81
X —
upto12x12. 3 10? 10 x 10 100
3 =9 "3squaredisequalto 9" 112 11x11 121
122 12x12 144

Understand cube numbers.

Know that a cube number is
the result of multiplying a
number by itself twice.

P\

4% 4% 4=64
16

64 is a cube number.

2 13=1x1x1=1
2°=2x2x2=8 §
§3°=3x3x3=27

43=4x4x4=64>
SSiNEse

<S>

Multiply by 1,000.

Know that when we
multiply by 1000, we move
the digits three place value
columns to the left.

52x1,000=>52,000
TTh | Th

: |

T

5

<

TTh Th H

O =




Multiply a 4-digit number
by a 1-digit number.

Use the formal written

Calculate 3,223 x 3

method to multiply the 4- | | [
digit and 1-digit numbers R | ™ H 2111114
together. ©00 00 (00 000 ;55 < T3
X 3 |
00|00 |00 000 o 6342
©00 00 00 000 )
Multiply 2-digit, 3-digit and
4digit numbers by a 2-digit 35 X 16 326 X 32 =10,432
number. H T|O Th H T O
Multiply the ones by the top 35 3/12|6
number and then the tens by
the top number. A place X 16 » X 32
holder must always be in the 61512 (326 X 2)
one’s column of the second 2 10 (35%x6) 1
row. + 9 7.8 0 (326 x 30)
1
3 5/0.(35x10 N
Using different colours t ( ) 1/0(4 (3|2 \
per row can help when 560 1 1 i
introducing the method. |
4 5|16 |2 [ x|3 |65 1| 6] 4, 2 3| 2
41516 | 2
X 2|6
2/7,3,7,2
+ 1 3,6 A B|06]0
116|423 2
1 1 1




Division- Year 1

Method

Example

Making equal groups -
grouping

Children will be given a
total amount and be asked
to make groups of an equal
amount.

There are 6_altogether.
There are _3_equal groups of 2_

needs 3 buttons.

Each gingerbread cookie

Use 15 buttons to decorate
the cookies.
How many cookies can you decorate?

Making equal groups -
sharing

Children will be given a
total amount and be asked
to physically share them
into equal groups.

Share the muffins equally between 2

groups.

oo
teoe

S>>

Safls Qe

There are 8 muffins.

They are shared equally between 2_
plates.

There are 4 muffins on each plate.




Division -

Year 2

Method

Example

Divide by 2

The apples are put into bags with

Use the arrays to complete the number sentences.

) _ 2 apples in each bag. 90000000 99900
Children to use their 90000000 99000
knowledge of the 2 times .‘ “ —_x2=16 X2
tables todivide by 2. 10r2E— I

‘ ‘ “ Use the number lines to work out the divisions.
There are _8 apples altogether,

| | | | l | |
There are _2_in each group. 0123 45678 911 12131

There are _4 groups. o
8l+[2]=[2 T A T R R O S

10+2

Halving Halve the amounts.

. Q00010 EEEEE e OO0
Children to understand that - — - =l
when we halve, we are b - 00000 HEREN
dividing by 2.

e -
W= 2l=8
00000 _, 00000
EEEEE [ [ [ [ 1] Half of 10 = 5
@ [
DIVIdlng by 10 Use the number lines to complete the divisions.

Children to use their
knowledge of the 10 times
tables and counting in 10 to
divide by 10.

Here are 40 sweets.

{504 04 604 604 404 64 504 104 194 9§84, [
They are put in jars with 10 sweets inside,
How many jars are needed?

There are 40 sweets altogether.

There are 10 in each group.
There are _4_groups.

40|+ |10/ =| 4




I

There are _8 tens in 80

50|+ (10|=|5

How many bags does Ron need? 7

”, {
0

Ron has 70 footballs.
10 footballs can fit in a bag.

I'm going o use a
number line.

70

| |

10 20 30 40 50 60 |

There are 5 tens in 50

Divide by 5

Children to use their
knowledge of the 5 times
tables and counting in 5 to
divide by 5.

30+5

Use the number line to work out the division.

0 5 10 15 20 25 30
25 + 56 = 25/+|5|=|5

0000000000000

000000000000

HLHHLH L




Division -

Finding a quarter

Children will be
encouraged to share totals
into four equal groups in
order to see the link

between finding a quarter -
and dividing by 4. @ @ @ There are 16 footballs in a bag.

Jo takes % of the footballs out.

b @ @ How many footballs does she take out? 4

There are 8 sweets altogether.

The sweets have been shared between
_4 equal groups.

There are _2_in each group. @(S '\; @ @@ @ ‘
bt o es @ enlen alaa | @

(AT




Year 3

Divide by 3,4 and 8

Children will explore dividing
by 3, 4 and 8 by sharing into
equal groups and by
grouping.

A party has 21 cakes. They are shared equally
between 3 plates.

8-
Coligy)

There will be 7 cakes on each plate.
21+3=17

The 21 cakes are divided into into groups of 3.

There will be 7 plates of 3 cakes.
21 +3=7

32+-4=28

The baker has 32 bread rolls.

He puts them into packs of 4
How many packs can he fill?

72 stickers are put into packs of 8

How many packs of stickers will be made?

0 4 8 12 16 20 24 28 32
72
NYW“\ s|8|8|8|8|s|8|s]s
0 4 8 12 16 20 24 28 32
Divide a 2digit number by a 39 +3= 13
1-digit number no exchange —
Tens Ones

Children will focus on
partitioning a number into
tens and ones and sharing
into equal groups.

39 divided by _3 isequalto 13 10 3
10+3= 13
Divide a 2-digit number by
a 1-digit number - flexible
partitioning
) A . 42 -3 = 14 96 ~ 4 =
Children will partition the
2digit number into two B0 B8 —
numbers that are a multiple , » aE 8 Ll G
.. 42 can be flexibly partitioned B8 ® (o
of the divisor. into 30 and 12 asthese QR 8 [(rrrrrrry
In the example to the I'ight, numbers are both multiples of _3_ a8 8
96 has been partitioned into @ ﬁhﬁ%’
80 and 16 because they are +3 %
both multiples of 4 and can CEEEREEEE)
now be divided by 4. 1044 =14 O




Division -

Divide a 2-digit number by
a

1-digit number with
remainders

Mo has 9 lolly sticks.
What if Mo used his sticks to make
squares?

Each square uses 4 sticks.

Mo can make 2 squares with 9 sticks.

There is one stick remaining.

9 + 4 =2 remainder 1

25+3=28r1




Year 4

Divide by 6,7 and 9

Children will use their

24 eggs are shared equally into 6 bowls

There are 27 fish.

How many eggs will be in each bow!? An equal amount are put into each of the 9 tanks.

How many fish are put in each tank?

knowledge of thé-, 7- and % ommar || e ?
timestables to divide. o | e e X
— —
| | e || o
atslsIsIsle BN [
b » O D
124]+]6 |=[ 4] o o || e ||
27]+[9]=[3]
Divide by 10 N
220+ 10= 38 sendilbiatid -
Children will know that when 00000
we divide by 10, the number BEEE)E)
gets ten times smaller. PR
The digits in the number will 00000
shift one place value column
to theright. 220 = 2 hundreds + 2 tens 00000
1 hundred = 10 tens 0000
2 hundreds = 20 tens 00000
There are 22 tens altogether.
220 = 22 groups of 10 Ten 10s = 1 hundred
Hundreds Tens Hundreds Tens Ones

Ones

O 0|0

Q\\ \‘

O 0Ol0

310~ 10—

310+-10=3




Division -

Divide by 100

Children will know that when
we divide by 100, the numbeyr
gets one hundred times
smaller.

The digits in the number will
shift two place value column;
to the iight.

2,100 + 100 = 21

2,100 = 2 thousands + 1 hundred

1 thousand = 10 hundreds
2 thousands = 20 hundreds

There are 21 hundreds altogether.

2,100 = 21 groups of 100

Thousands Hundreds

O 0|00

O

© Q

N

™

Thousands

Hundreds

4,300 + 100 = 4,300 +- 100 =43
Divide a 3digit number by a
1-digit number SHrES B H g %
00 5]

- © oo 00
Building on from year 3, they ° © 0 00
willpartition the3-digit ©0 00
number to make multiples of] © OOOQ oooo
the divisor. O OOOO 0000
In the bottom exampld, 15
has been partitioned. The 1
hundred has been exchanged
for10tens so that it can now
be divided by 5. Then, the one
10has been exchanged for —
ten ones. Now, the 15 ones 15+5= oo H T 115+5=23 H
have been divided by 5. o O




Division - Year 5

Divide by 1,000

Children will know that
when we divide by 1,00,
the number gets one
thousand times smaller.
The digits in the number
will shift three place value
columns to the right.

TTh | Th H T
4 7 {0 0
TTh | Th T

\4

Divide a 4-digit number by
a 1-digit number with and
without remainders.

Children will be introduced
to the bus stop short
division method for the
first time.

Tens

There are _3 groups of 3 thousands.

Thereis _1 group of 3 hundreds.
There are _0_groups of 3 tens.
There are _2 groups of 3 ones.

[ 13[1l0[2]

3|9306

120

el
8|9'6 274

r2




Division - Year 6

Long division by chunking

Calculate: 13 x1= 13 13X 10=130
5 - 13X 2= 26 13X 20=260
Using multiples of the -1 =9 13x3= 39 13 X 30 =390
divisor, begin taking away 13X 4= 52 13 X40=520
large chunks until you get to . 13 x5= 65 13X 50=650
0 or a remainder. > 13X 6= 78 13 X 60 =780
131% 14 1 13x7=91 13x70=910
Key multiples are: 1, 2, 5 —| 6 5| 0| (x50)
and 10. 9 1 0(4|8]|9
N o] 1| (x7) 15[7]3]3]5
0 6(0(0|0 (15 x 400)
1133 |5
112|0|0 (15 % 80)
11315
1[3]s (15 x 9)
0
Long Division
Calculate 4,320 + 32 = 135
32 [64 | 96]128[160[192]
3264 961128 160 ’ 1|35 0(316
32|43 |20
SEIEERNN 12[47372
ANE 3 6 ’
= 9 6 7 2
1]/6l0
- S 7|2
0




